
Name: 

1. There are 4 birds sitting on a tree branch, and 2 more birds join them. 
    How many birds are on the branch now?

                                               Answer: _____

2. Tim has 6 toy cars, and his sister gives him 4 more toy cars. 
    How many toy cars does Tim have now?

                                               Answer: _____

3. Jenny has 5 red balloons and 3 blue balloons. 
    How many balloons does she have in total?

                                               Answer: _____

4. Mike has 8 marbles, and he finds 1 more marble on the ground. 
    How many marbles does Mike have now?

                                               Answer: _____

5. There are 3 candies in one jar and 2 candies in another. 
    How many candies are there in total?

                                               Answer: _____

6. Alexa has 4 pencils, and her friend gives him 5 more pencils. 
    How many pencils does Alexa have in total?

                                               Answer: _____



Name: 

1. Selena has 3 apples, and her friend gives her 4 more apples. 
    How many apples does Selena have in total?

                                               Answer: _____

2. Emily picked 5 flowers in the morning and 2 more flowers in the afternoon. 
    How many flowers did Emily pick in total?

                                               Answer: _____

3. Mark has 7 stickers, and he receives 2 more stickers as a gift. 
    How many stickers does Mark have in total?

                                               Answer: _____

4. There are 5 ducks in the pond, and 3 more ducks join them. 
    How many ducks are in the pond now?

                                               Answer: _____

5. There are 4 bananas and 3 oranges in a basket. 
    How many fruits are in the basket?

                                               Answer: _____

6. There are 9 fish in the aquarium, and 1 more fish is added. 
    How many fish are there in the aquarium now?

                                               Answer: _____


